Chemistry (8) L.K.No. 1110 Paper Code No. 6484

Paper | ( Objective Type ) inter - A - 2022 ( Group 2nd )
Time : 20 Minutes Inter (Part-1)
Marks : 17 Session (2020-22) to (2021 - 23)

Note : Four possible choices A, B, C,D to each question are given. Which choice is correct fill that
circle in front of that Question No. Use Marker or Pen to fill the circles. Cutting or filling two or more
circles will result in Zero Mark in that Question.

Rl —C L=z
(A) 0 (B) 1 (

Q.No.1 | The bond order for Hesz is ¢ 2 (D) 3
(1)
(2) | Orbitals having same energy are called
(A) Hybrid Orbitals (B) Valence Orbitals (C) Degenerate Orbitals (D) d - Orbitals
(3) | At Murree Hills, water boils at : ' (A) 98°c (8) 100°% (c) o°c (D) 50°C
- 3
(4) | Number of Molecules in one dm™ of water is close to :
6.02 12.04 18 5 o) 2
(A) (8) —— (C) x 10 (D) 556 % 6.02 x 10
22,4 22.4 22, 4
(5) Drying Agent used in Desiccator is : . (A) NHgqCl (B) ‘AgCl (c) NaCl (D) CaCly
(6) | The largest number of Molecules are present in
(A) 3.6 g of H2O (B) 4.8 g of CHsOH (Cf2.8,8 of CO (D) 5.4 g of N20s5
(7) | The rate of Reaction :
(A) Increases as the reaction proceeds_ (B)/Remainithe same as the reaction proceeds
(C) Decreases as the reaction proceeds (D) May decrease orincrease as the reaction proceeds
(8) | Stronger the Oxidizing Agent , greater is the
(A) Oxidation Potential (B) Reduction Potential (C) Redox Potential (D) EMF of Cell
(9) | The Molal Boiling Point Constant is'the fatio’ of the Elevation in Boiling Point to
(A) Molarity (B) Melality (C) Mole Fraction of Solvent (D) Mole Fraction of Solute
= -3
(10) | The pH of 10 2 mol dm (of @an aqueous solution of H3SO4 is
(A) 3.0 (B) 2.7 (C) 2.0 (D) 1.5
{11) | Calorie is equivalent to (A) 0.4184J (B) 41.84J (C) 4.184J (D) 418.4J
(12) | Which of the Hydrogen Halides has the highest percentage of lonic Character :
(A) HCI (B) HBr (C) HF (D) HI
(13) | QuantumNumber Values for 2p Orbitals are
AAn=2,l=1Bn=1,=2()n=1,=0 Dn=2,¢ =0
(14) | Which of the given is a Pseudo Solid : (A) CaFp (B) Glass (C) NaCl (D) All these
(15) | The molar volume of CO3 is maximum at :
(A) STP (B) 127°C and 1 atm (C) 0°C and 2 atm (D) 273°C and 2 atm
(16) | Solvent Extraction is an equilibrium process and is controlled by
(A) Law of Mass Action (B) The Amount of Solvent used (C) Distribution Law (D) The amount of Solute
(17) | The mass of one mole of electrons is

(A) 1.008mg (B) 0.55mg (C) 0.184mg (D) 1.673 mg
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Chemistry (Subjective ) | Inter - A - 2022 | Time 2:40 Hours Marks : 68 | Group 2nd

Note : It is compulsory to attempt any (8 - 8) Parts each from Q.No. 2, Q.No.3 and attempt any (6) Parts f
from Q.No.4. Attempt any (3) Questions from Part - Il. Write same Question No. and its Part No. as B

given in the Question Paper. % pe qa- —L&_

Make Diagram where necessary. Part - | 22x2=44

Q.No.2 | (§ | 180g of Glucose and 342 g of Sucrose have the same number of Molecules. Justify it.

(ii) | No individual Neon Atom in the sample of the element has a mass of 20 . 18 amu. Give reason.
(iii) | Why is the Actual Yield mostly less than the Theoretical Yield ?

(iv) | What is Retardation Factor { Rf)? Why it has no unit ?

(v} | How are undesirable colours removed (vi) | Pilots feel uncomfortable breathing at higher
during crystallization ? altitudes, why ?

(vii) | What is Solvent Extraction ? (viii) | Define Diffusion. Give example.

(ix) | What is Critical Temperature (Tc)? * (x) | How is basic Buffer Solution prepared ?
Give an example. Give an example,

(xi) | What is Common lon Effect ? Give an example | (xii) | Define pH and pOH.

Q.No.3 | (i)} | How Aquatic Animals owe their lives under blanket of Ice in Winter ?

{ii) | Justify Earthenware Vessels keep water cool .

{iii) | lonic Crystals are highly brittle . Justify it.

(iv) | Why Electrical Conductivity of metal decreases with rise of témperature ?

(v) | Why it is necessary to decrease pressure in a discharge tube tasget Cathode Rays ?
{vi) | Give any two properties of Neutron.

(vii) | Define Hund’s Rule with an example.

(viii) | Differentiate between Zeeman Effect and Stark Effect)

(ix) | In summer, the antifreeze solution protect the liquid from boiling over. Give reason.
(x) | Why in Hydrates Cation attracts more water molecules than anion ?

(xi) | The radioactive decay is always First Order_Reaction. Justify it.

(xii) | Sum of Co-efficients of Balanced Equation is not necessarily important to give order of reaction. Explain.
A Q.No.4 | (i) | What is Octet Rule ? Give two_examples”in which Octet Rule is not obeyed ?

® (i) | Size of Anion is larger than its /Neutral Atom, why ?

f (iii) | What is lonization Enefgy ? Giveulinits.

(iv) | What is Ammonium lon? How it is formed ?

(v) | What is the differénce between Internal Energy and Enthalpy ?
(vi) | What is Hess's Law of‘Constant Heat Summation ?

(vii) | Burning of\Candle is" spontaneous process, why ?

(viii) | Calculate the Oxidation Number of Chromium in K»Cr207.

{ix) | Whathis Metallic Conduction ? Give example.

(Part-1) 3Ix8=24
Q.No.5 | (a) | What is a Limiting Reactant ? How does it control the quantity of product in a chemical
reaction ? Give two examples. (4)
(b} | Explain the Millikan’s Oil Drop Experiment to determine the charge of an Electron. {(4)
3
Q.No.6 | (a) | 250 r:m3 of the sample of Hydrogen Effuses four times as rapidly as 250 cm  of an
unknown gas. Calculate the Molar Mass of Unknown Gas. (4)
(b) | Explain the measurement of Electrode Potential of Zinc(Zn ). 3+1 =1 (4)
: Q.No.7 | (a) | Explain AB3 Type with no lone pair of electron and with multiple bond according to VSEPR
Theory. (4)
# (b) | What do you mean by Enthalpy ? Also prove that AH = ¢, 1+3 = | (4)
Q.No.8 | (a) | How Boiling Point and External Pressure are related ? Discuss applications also. (4)
¥ -2 o
{b) | The solubility product of AgaCrO4 is 2.6 x 10  at 25 C. Calculate solubility of the
i compound. (4)
;! Q.No.9 | (a) | What do you mean by Elevation of Boiling Point ? Explain Landsberger's Method for its
E7 _
n measurement. 1+3 = | (4)
(b) | Discuss Half Life Method and method of large Excess to find order of a reaction. 2+2 = | (4)




